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Pick the Best Measure of Central Tendency

[image: image1.wmf]1.   Donations were collected for the sports fund. Mr. Wilson was able to collect 7 donations in the amounts of: $106, $100, $15, $20, $54, $165, $184. He wanted to show that he was a successful contributor to the sports fund. Which measure of central tendency would best show this?

2.   As a basketball player for her school’s varsity team, Rylee scored the following points in her last 8 games: 8 points, 10 points, 10 points, 10 points, 14 points, 21 points, 23 points, 24 points. She wants to be considered for the Most Valuable Player Award for the team. Which measure of central tendency would best show this?
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3.   In a store flyer, 6 TVs were advertised at the following prices: $1049, $799, $719, $809, $675, $1049. A store manager wants to advertise that the average cost of TVs is more reasonable than the competing stores. Which measure of central tendency would best show this?
Answer KEY

Pick the Best Measure of Central Tendency 

1. 
Mean: 106 + 100 +15 + 20+ 54 + 165 + 184 = 644 ( 7 = $92

   
Median:  15  20  54   100  106  165  184; median = $100

  
No mode


The median value would best represent Mr. Wilson as being a good contributor to the sports fund since it has a higher value.

2.  Mean:  8 + 10 + 10 + 10 + 14 + 21 + 23 + 24 = 120 ( 8 = 15 points

Median: 8  10  10  10  14  21  23  24; 10 + 14 = 24 ( 2 = 12 points

Mode: 10 points

The mean value would best represent Rylee’s scoring in consideration for the Most Valuable Player Award.
3.  Mean: 675 + 719 + 799 + 809 + 1049 + 1049 = 5100 ( 6 = $850

Median: 675  719  799  809  1049  1049; 799 + 809 =      1608 ( 2 = $804


Mode: $1049

The median value would best represent the average cost of TVs if the manager wanted to claim his store is more reasonably priced than the competing stores.
